Writing - contractions

short form long form
don't = do not
doesn’t = does not

Look and write the long form.

1 He doesn't like sweets. He does not like sweets.

2 She doesn't like balloons. She - like balloons.
3 I don't like bananas. I like bananas.

4 He doesn't like oranges. He like oranges.
5 I don't like snakes. I like snakes.

6 She doesn't like fish. She like fish.

Write the long and short forms.

long form short form
1 Ido not like sweets. | don’t like sweets.
2 He doesn’t like balloons.

3 She does not like eggs.

4 I don't like tigers.

5 Ido not like snakes.

6 My mum doesn't like cats.

7 My grandpa does not like cake.
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